
Time: 10 Minutes Paper Math 7 (T-1) Total Marks: 10

2nd Month, 4th Week, 4th Day Review Exercise 1(b) (23 to 24)

 Answer the following questions:  
Q.1. The price of washing machine is Rs. 80000. If the rate of GST is 17%

then find the total price of washing machine including GST.     (1x2=2)

 17  80000 
Q.2. What is the length of a side of a square having area 441 square metres?

(1x2=2)

 441 
Q.3. Shahwar has two crops of worth Rs. 500000 and Rs. 800000 respectively,

irrigated by artifical resources. Find the amount of ushr. (1x2=2)

 800000  500000 


Q.4. Find the square root of  by division method.     (1x1=1)


Q.5. Adeel earns Rs. 100,000 monthly. Find the amount of income tax on his

income.      (1x3=3)

 100,000 
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